
µwgK bs cixÿv_©xi bvg
Zix‡K 
ZvÕjxg

gvmb~b `yAv I 
nv`xm

Bs‡iwR

99 100 100

1 gynv¤§v` gyÕAvh 80 96 70 246 82% gygZvh 9

cÖvß wefvM †gav ZvwjKv

 m‡e©v”P b¤^i    

evwl©K cixÿvi djvdj 1443 wnRix

gvÕnv`yj eyûwmj Bmjvwgqv
ewmjv Mv‡W©b wmwU, gynv¤§v`cyi, XvKv-1207

b~ivbx gKZe wefvM (MÖæc : K)

†gvU Mo

gvb eÈb

†gvU b¤^i :  100 3 = 300
gygZvh :  80  3 = 240
Rvwq¨` wRÏvb :  65  3 = 195
Rvwq¨` : 50  3 = 150
gKe~j :  35  3 = 105

1 gynv¤§v` gyÕAvh 80 96 70 246 82% gygZvh 9

2 gynv¤§v` Avwjd 85 97 56 238 79% Rvwq¨` wRÏvb 11

3 mvBdzj Bmjvg wRkvb 95 99 96 290 97% gygZvh 4

4 gvng~` nvmvb 90 82 86 258 86% gygZvh 7

5 Avãyjøvn BgvgyÏxb 97 100 45 242 81% gygZvh 10

6 DmvB` gynv¤§v` 80 94 98 272 91% gygZvh 6

7 Zvgxg †gvjøv 98 99 96 293 98% gygZvh 1g

8 ZixKzj Bmjvg †mvnvb 80 95 100 275 92% gygZvh 5

9 ZvBdzi ingvb dziKvb 98 100 94 292 97% gygZvh 2q

10 gvng~`yj Avgxb 90 98 66 254 85% gygZvh 8

11 Bqvmxb AvivdvZ 99 94 98 291 97% gygZvh 3q

`dZ‡i ZvÕjxgvZ



µwgK bs cixÿv_©xi bvg
Zix‡K 
ZvÕjxg

gvmb~b `yAv I 
nv`xm

Bs‡iwR

95 100 86

†gav ZvwjKv

 m‡e©v”P b¤^i    

gvÕnv`yj eyûwmj Bmjvwgqv
ewmjv Mv‡W©b wmwU, gynv¤§v`cyi, XvKv-1207

b~ivbx gKZe wefvM (MÖæc : L)

†gvU Mo cÖvß wefvM

evwl©K cixÿvi djvdj 1443 wnRix gvb eÈb

†gvU b¤^i :  100 3 = 300
gygZvh :  80  3 = 240
Rvwq¨` wRÏvb :  65  3 = 195
Rvwq¨` : 50  3 = 150
gKe~j :  35  3 = 105

1 Avãyjøvn gvbh~i 95 100 46 241 80% gygZvh 4

2 gynv¤§v`  ûhvqdv 92 80 46 218 73% Rvwq¨` wRÏvb 7

3 gynv¤§v` mvdIqvb 89 92 86 267 89% gygZvh 1g

4 gynv¤§v` gynvBwgb 88 90 46 224 75% Rvwq¨` wRÏvb 6

5 gynv¤§v` Avãyjøvn 90 99 54 243 81% gygZvh 3q

6 gynv¤§v` kixd 85 90 56 231 77% Rvwq¨` wRÏvb 5

7 AvRgxi ûmvBb 90 72 86 248 83% gygZvh 2q

`dZ‡i ZvÕjxgvZ



µwgK bs cixÿv_©xi bvg
Zix‡K 
ZvÕjxg

gvmb~b `yAv I 
nv`xm

Bs‡iwR

93 91 98

cÖvß wefvM †gav ZvwjKv

 m‡e©v”P b¤^i    

evwl©K cixÿvi djvdj 1443 wnRix

gvÕnv`yj eyûwmj Bmjvwgqv
ewmjv Mv‡W©b wmwU, gynv¤§v`cyi, XvKv-1207

b~ivbx gKZe wefvM (MÖæc : M)

†gvU Mo

gvb eÈb

†gvU b¤^i :  100 3 = 300
gygZvh :  80  3 = 240
Rvwq¨` wRÏvb :  65  3 = 195
Rvwq¨` : 50  3 = 150
gKe~j :  35  3 = 105

1 gynv¤§v` ZvImxd 90 82 55 227 76% Rvwq¨` wRÏvb 5

2 Ave~ nvbxd 85 82 84 251 84% gygZvh 1g

3 iv‡k` †gvjøv 93 91 56 240 80% gygZvh 4

4 hyevBi ûmvBb 90 74 80 244 81% gygZvh 2q

5 gynv¤§v` ivnvZ 75 70 54 199 66% Rvwq¨` wRÏvb 6

6 dzAv` Avãyjøvn 70 73 98 241 80% gygZvh 3q

`dZ‡i ZvÕjxgvZ


